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509398154
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509398181
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Generalised conclusion on the basis of a sample 1s technically known as :

TF A94 & AT 97 AOFT W TG B H AT Sl £

Options :
Statistical inference

O3 ery
L MAAHE R

Descriptive statistic
JUATOE ATRST

2. %

Data analysis and interpretation

3 % BET [O9eEor 27T ST

All of the three

, w A E T
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Question Label : Multiple Choice Question

The pmmm] of asking pre- meditated questions in instruments of data LD[]E(‘HD[I is:
HOF TAAE F ITEION T TI-TUEEET 959 TEA H U 2

Options :

Structured

= RUEF

1.¢

Unstructured
5 % A

Free-rein

-3

3. %

Systematic

g, % AT
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Question Label : Multiple Choice Question

Survey research is cross-sectional and therefore :
AN FHEE T-AIRA § AT

Options :

H1gh in replicability but low in internal valdity

| gferprd O 3=d aifhd A Juar O &g

H1gh in mterml validity but low in reliability
HAMGF TOA O F=F AR [AeaE=EaT © g

H1gh mem]ﬂmd] validity but lcm in external validity
i Jaar T 3= @fEA 9= Jgar O &g




MNone of the three

Lo A H T A
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Question Label : Multiple Choice Question

Testing hypothesisis a......... .
Ti{hed=T T & |

Options :

Inferential statistics
ATHANE AT

1. ¢

Descriptive statistics
w TUHATEE HJIRAH]

2.

Data preparation
3 % HOFH FH A=A

Data analysis
j w THE T e
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Question Label : Multiple Choice Question
Inductive logic proceeds from :
ANMOATG S 7% FATAL =061 2 ¢
Options :

General to General

O O

1. %

Particular to General
5 [@Eg F A



General to Particular
5 s AT H s

Particular to Particular
4 % TEET H T
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Question Label : Multiple Choice Question

The sampling technique based on referral system of respondents i1s known as :

TEIRTETAT B T T U7 ST Oia=ET SR R =3 SAET 2
Options :

Convenience Sampling
EIERIIGERE

1. %

Snowball Sampling

AT Ofa=4
2. %

Cluster Sampling
5 % TUE AR

Stratified Sampling
PR S MER IR

4.
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Question Label : Multiple Choice Question

Analysing the impact of demonetization on economic growth falls under which category

of research 7

HAMGH OhE T Aesel F O9G B Deuer hE sie #H ST 29

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all



candidates.

Options :
Descriptive Research
AU F ST

Fundamental Research
o TEE STH

Pure Research
SESTH

Casual Research

4 FEUCOH T
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Likert scaling is based on :

oThe JOMET SJTEnd &

Options :

Item-wiseﬁscule
| Te-F0 IO =4 T

Summative scale
AEOF TOH T7

Retlective scale
Ao o TT

Formative scale

4 % O IO O%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A research design appropriate for a particular research problem, usually involves the
consideration of the following factors : )
UF 9T TOoEr ORG99 sy #JuEr & o 3uge Eer g, fEEd

=

ATOTT4T =Fangs ®ER 99 &= 5y AET 2o

(a) The means of obtaining information
AT AT B B/ AT

(b) The availability and skills of the researcher
SRl i ITareddl AL HIgT

(c) The nature of the problem to be studied
HLIH Bl A Al TOEAT B Ol

(d) The availability of time and money tfor the research work
=1 e A 2 e R T Ll e e EA = A U

Options :

(a), (byand (d)

| % (a), (b) =77 (d)

{a), (b) and (c)
(@), (b) AT (¢)
2. %

ia), (b, (c) atld (d)

3 (a), (b, (c) AT (d)

(b, (c)and (d)

L% (b), (¢) FATT (d)

Question Number : 10 Question Id : 50939813032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

SHODHGANGOTRI 15 :
SHODHGANGOTRI %

Options :



Database of articles

or J:j. _-El- .-' o "-j 1.:

Database of thesis & dissertation
g AT AT oy U=y W EEEd

Database of research swmpms
R AT Hw EEE

3.¢¥

Database of experts

423%:%:@%??_1%?
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Question Label : Multiple Choice Question

Which of the following statements about random sampling method is nef true 7
Aei=h =R TR b A U Mg O F FE AT J8 = ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

In this metlmdi each unit has equal l.,h’mc‘e to be selected.

1 =6 TEId O Uddh 30E & =Fdd BH @ 99 FTHT Sl %I

Each sample has equal chance of selection.
ool Oicesl & =99 H TR JUE S B

It is free from personal prejudices and bias
e FTHE GAEenAT AT 9HaE J Ted =60 2 |

3.

This method is very simple to use
TE T TAN FHIA O FEE AT 2
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Question Label : Multiple Choice Question

The English word 'Research’ derives its origin from :
AT ot TEE (slrE) A FE E

Options :

Latin

French

German
3 % A0+

Italian

= =)
FE ) R,

4o
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Question Label : Multiple Choice Question

Which of the following approach uses the study of groups to identify general laws that
apply to a large group of people ?

=9 A FI-TT SIEFEVT WA F @9 AT U7 @R B al Jmorer I #l
TEAE B H 0 CHUEl % SAEET W ITAN ®Eal £ 7

Options :

Idiographic Approach
SEAMANSS (THITH) S HIT

Nomothetic Approach
AMOTEEE (FFEFTITE) S hY]

Empirical Approach
5 s FIITTIA SEEH



Pragmatic Approach
% BRI EI RS Al

4.
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Question Label : Multiple Choice Question

In the context of Research Process, the following operational steps are taken in certain
order :

AAAUE UEA % Hed T, Meligd UiiEed =S99l U HieEe B o
o A E

(A) Conceptualising the research design
ATAGN HATIHTT H AT |

(B) Formulating a research problem
E0 k= IS RREEP = ] T

(C) Selecting a sample
Oicesl T =9 |

(D) Constructing an instrument for data collection
S HUE B 00 HAFHAN HES B i

Which of the following options represents the correct order ?
FTiEd O H -9 [@hed Hel 0 & Jid-idae &l © 7

Options :
1. v/ B, .-‘:"L, D, C

, % B.D.AC

; % BCAD

4.23 B,C,D..“ﬁi
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Question Label : Multiple Choice Question



Impact tactor of a journal is defined as :
fFHT FHe & 09 e (Impact factor) T 29 OFRE TGS TRAT AT E

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

It is the monthly average number of citations that articles published in the last twelve
months in a given journal received
TE Hel ®O U FJE@ O Ued aeE OEEl O OS09E oiEl O OTEE

It is the yearly average number of citations that articles published in the last four
years in a given journal received
qE T ME Ul O oo =7 a9t O OEnie oeai F angs T

It 1s the vearly average number of citations that articles published in the last two
years in a given journal received
7= 5l 0 T S e © fred o a9 O OEieTd oidl B anus S

It is the vearly average number of citations that articles published in the last five
years in a given journal received
Tz &1 ME OEE O gl 9= gul O OEieE ohEl d andE HAEd

4
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Question Label : Multiple Choice Question

The three basic principles of experimental design are :

TR A1 F a9 Oadgd R =

Options :

Replication, randomization and Substitution
TS, TesOE=s™ Ug T@2iod9-

1. ®

Replication, randomization, and local control
. YERA, Y UIEHe U S Bl




Substitution, replication and local control

A9, TS UF T Frg el

3. %

Substitution, randomization and local control

L% AFEIgs™, EOE=9E Ud dHd Frgld

Question Number : 17 Question Id : 50939813039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Differences in the means of more than two treatments are analysed by :
S H AIEE IU=EEl H O O Egs F fassiuer AT A

e

Options :

Simple t-test

L% 0T -9

Chi square test
o FZ AT T

F-test

_TTE

Paired sample t-test
Jfe S d-i

- et
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Question Label : Multiple Choice Question

Which of the following 1s nof a method of research ?

Options :



Survey
[EEE

Historical
M GIHIEEE S|

Observation

ST
S EIET

Philosophical

I E il
4, ®
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Question Label : Multiple Choice Question

Which of the following graphical presentation is two dimensional ?
= O F B AT U & SJET 7

Options :

Pie chart

Bar chart
F R EET

Histogram
AT =3

Box plot
g1 =T
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Question Label : Multiple Choice Question

Correlational Research can be classified from the perspectives of :

Az-AEY AqETE B T SEET F AT U7 @ g e A1 S
g7

Options :
Applications of the tindings of the research study.
| x ST ST F MGl B SATART F AT U7

Objectives of the research study.
5 o M FIES F I F ATER 0T

Mode of enquiry used in conducting the study.
3 % AFFE T HEEE O ITERT B OAE AR SE F TS OAEE T

Outcome of the research.
4 % ST T OROTH T STER 9T
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Question Label : Multiple Choice Question

A researcher might want to examine the reactions of the general population towards
people in wheelchairs. He/She can study their reactions by sitting in a wheelchair
himselt/herselt. Such method of collecting data is known as :

U SNEEal Ee=ET O AT @R & Oid A SAERl & O EAE #i
AE HeAT ARGl | g8 @A EeEAT O ao®e 39 Oiaieere @
HAFA BT AHAT 2| B UFA FAA F I GT B EA TU G OFET @

Er

Options :
Disguised Observation
=T AT TR
% U= A de kA

Participant Observation

2.¢ PIGE R L 7

Non-Participant Observation

3 s TR S

Self Recording Observation
y w T TEEIET e
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Question Label : Multiple Choice Question

Which of the fnl]nmnn 1s are citation/reference style s] 7
MmET O T R SR sAe @iy (&) =2 7

(A) American Physical Association
AGITFA e TATaIs

(B) Modern Linguistic Association
OEA [TIRgE=E THIETSTH

(C)y Oxtord Standard tor the Citation of Language Association
ATFAFE =USE BT T AECsH ATE ovae TEEuET

(D) Vancouver

GE R
Choose the correct answer from the Lnde'a given below :
M=faiad © 3 ®E-A1 981 §E =

Options :

ia), (by, (c)rand (d)

| % (@ (b)) AT (d)

(a), (b) and {c)
5 % (@) (b) AT (c)

(a) m_]d (d)
3 % @FAT)

(d) only
4 TAT (d)
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Question Label : Multiple Choice Question

One-way ANOVA is used to :
UF-TLHT UAET &l IUERET AT A6 2

Options :



Determine whether there is any statistically significant difference between the means

of single independent group before and after intervention .

TE Fuivg ®2ar & % #7 UF Tmag 9g9E O 5EET F usd A7 J.
| % & TT9T (mean) F T FIE HIFABT TETII HT =

Determine whether there are any statistically significant differences between the
medians of two or more mdependent groups

TE Fuied ®ar & T 0 & 91 AGf9® @as Jg9s § el & g

5 % HE AWART =909 F=7 =

Determine whether there are any statistically significant differences between the
means of two or more independemfunre]med groups

TE Faivd Fear & % &0 &1 a7 afas @mad s dq9aad 9981 & OTed
3 o (mean) % 4 FE AfESE gewTyl s & oA A€

Determine whether there are any statistically signiticant ditferences between the
squared means of WO or more mdependent group
Meiftva ®eam & % o &1 ar Aafaw mas AO=] F A 19T (squared

4 % mean) T A" ®IE AARE OETY ST = AT TRl
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Question Label : Multiple Choice Question

Which of the following principles of experimental design have been enumerated by
Protessor . A. Fisher 7

el e e S TR = 1 1 7 o M 2 -1 e S = s o £ s 1 = gl (N £ -3 £ SO L o
7o Uo fFITT g@rr fiAm o £ 7

(a) Principle of Revision
HeMEIA FI =

iby Principle of Replication
ORI Tl =

(c) Principle of Randomization
"] grﬁ TSRO 1 aEr

(d) Principle of Local Control
A 0 B R

Choose the correct answer from the codes given below :
Hre U T Hs O | HE 39 g

Options :



(a), (b)and (c)
(@), (b) AT (c)
1. %

(a), (b) and (d)

5w @0 AT (d)

by (c)and (d)

4 (byic) T (d)

(a), (c)and (d)

4 % (@), () AT ()
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Question Label : Multiple Choice Question
Read the statements A ’mrl B and choose the correct option :
FT A HT B U% AN HE @EeT =T

Staternent A : Exploratory research studies are also termed as formulative research studies.
FUT A ASTUGREDE 9 ST B ONE ol STora S HET ST R

Statement B : Exploratory research study i1s undertaken with the objective either to explore
an area where little 1s known or to investigate the possibilities of undertaking a particular
research study.

HO B ASUUNOE 9T AOREE H IE9d TRE U =uF O g A
TE® =17 § A5s 9 A=EE I9wed = A7 HE m ded & a1 oo
AT YA B FHAEATET HT TS T 24T 2

Options :
Both the statements are true.
| o SHET FHIT T E |

Both the statements are false.
) % AT FAT FFA E |

Statement A 15 true but B 1s false.
3 % BT A TAA E TET BT £

Statement B 1s true but A is false.
4 % TIT BHAA E kA A T = |
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Question Label : Multiple Choice Question

Which of the following are the online anti-plagiarism software 7
M=faiaa O # ®E-4 FJaEs ie-wiaed HiEady =

(a) Urkund
':51;.'1.:;-;_;
by Owerleat

x| R
(c) Turnitin
(d)y Viper

Choose the correct answer from the codes given below :
A= ®U T FE T OH FEN 391 g4
Options :

(a), (b) myj ch

| % ia), (b)) 3T (c)

(a), (byand (d)

5w (@.(b) =17 (d)

(a), (c)and (d)

3 @) 17 (d)

(a) and (c)

4 % @ M7 (c)
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Question Label : Multiple Choice Question

Whether a test is one-sided or two-sided depends on :



Options :
alternative hypothesis

3 =TT 1] TioFe
1.« dehlotdch T dnatdl

null and alternate both
I e Ell B A E e |

null hypothesis

- ST IERTTT

either by null or by alternate
4 % AT T S A ORI F
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Question Label : Multiple Choice Question

Which measure of dispersion do not depends on all observations ?

B T B |1 O1T JH] AgErEAl U7 MHT 98 S § 7

Options :
Root mean & square deviation

1wq_5—rrma:r-aq“1'raﬁ1’ﬂﬁ|=r

Mean deviation
5w WA ferga=

Quartile deviation
3 o TOUE HEEEA

Standard deviation
4w TTTE EEERI
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Question Label : Multiple Choice Question



It ris the simple correlation coetticient, the quantity 15 termed as ;
e r JIE ALHGE qOOF T, G O FH A OE T TR AR E

Options :

Coetticient of alienation
[ % TTHIHIOT H oI

Coetticient of variation
[E: o LA Ul 7

2. %

Coefhicient of determination
3 @ @ ZET NN G

Coetficient of non-determination
g s TE-TETOT HT IOE
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Question Label : Multiple Choice Question

A Scattergram is extremely effective :
UF FHog HAoad J9El = o

Options :
to show visually how two vanables are covering
S9EE Bm F oo 56 & =9 &9 o399 =

1. ¢

in organising the scattered footnotes of the research.
5 % SN F feRE Ot w1 i w3 O

in organising the scattered bibliography of the research.
5 s S W AT BT W FE H AT T

in organising the scattered results drawn after the rigorous literature review.
Fol? Hiscd TOET F Je R 0 fewE?d Oemgr 5 #hegd w7 0

4, =
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Question Label : Multiple Choice Question

The conclusions/findings of which type of research can not be generalized to other
situations 7
TFd O%T & Mg § Humd B eH Tl O AEErEd 87 hA = 1
a% £ 7

Options :

Casval Comparative Research

FIROEOF So-TmE ST
1. % -

Historical Research

TRl 91
2. %

Descriptive Research

3 o AU STreT

Experimental Research
U S
4, ®
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Question Label : Multiple Choice Question

Which one is called non-probability sampling ?
M=arad O # ®E TE-UTasdl 99499 ®l Al = 7

Options :

CJuota sampling

1. ¢

Cluster sampling
T uiaEE

Systematic sampling
AT /2T U=

Stratified random sampling
= AR E Tia=TH
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Question Label : Multiple Choice Question

In an experimental design, the dependent variable is :
0 AR ® O § 997 =7 a1 2@ & 949 58390

Options :

The one that is not 1mmpu]ated and in which any changes are observed
‘ﬁ? ‘—[_"_CI_"T/F'?T"'IE_,-' 51 F FAET AT fHED 9 ger aftgde 95 Joie

The one that is tmmpu]’ﬂed in order to observe any eftects on the other
SECCE BRER SR - £ E -t AR A M I e s e A= b =
AT |

A measure of the extent to which personal values atfect research
TFH U AR Ood STy 1 O9Mad Hid = 39% Oi9h & =9 0
TAFT Thar ST =

An ambiguous concept whose meaning depends on how it 1s defined
U A0 AT OE1 A1 TFal = fAas] A9 39 07 [ Hmear 2

L% 5 39 9 ianus e A
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Question Label : Multiple Choice Question

When a group of people with defined characteristics are followed up to determine
incidence 1s known as :

qEAT W Ui ®mE F 0 oieius [GemarEl 9wl @en F O J9E &bl
M= O FAE A 2

Options :

Case series
T AR
#®



Cohort

2.4}7@_{

Case control

3.wﬁ>‘ﬂmzrrr

Experimental
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Question Label : Multiple Choice Question

In the process of conducting research, formulation of hypothesis is followed by :
AN HH H O O, SUshedr i 1 SAgEHT EB =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Statement of objectives
| FEST W FHEA

Collection or data
T F Hhel

Analysis of data
TAT HT FeTEer

Selection of research tools
AT T FHT FAA

4.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"»’hnh of the fol]nmnn features are considered as critical in quaht’m\e research 7
FF:T fad o T‘[ F -9 [EeaaE NI B ST & I"I” e ;{”I O AT
E 7

Options :

Collecting data with the help of standardized research tools.
_ OERRT ST T80 & & A=AF o 2ATHS] B Fas0]

Design sampling with probability sample technigues.
5 s WG Q== THAH F TN FE ST 9T B e

Collecting data with bottom- up E]ﬂ]}]f‘lLd] evidence.
3 FEAMT AAEE HJEd & TAET HOATRST B FAE

Gathering data with top-down schematic evidence.
o, HH-UR AAEE A H AR H AEHST F AT
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Question Label : Multiple Choice Question

Among 25000 individual in a city, 105 were indentitied with Covid-19 positive. Calculate
the prevalence of Covid-19 per [000 pnpu]mml

OF STET O 25000 ==eA O, 105 FNde-19 AFHEES & 919 38 (60 0
1 °fd 1000 FEEE 9 EBITS-19 F AR Bl TOEAT T |

Options :

| % 52

) 4.2
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Question Label : Multiple Choice Question

The tollowing multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

=T H ATIT FE AW GO 0 g w IALE

Export Earnings

1 polished 3 gold

I 'Lil-]"ﬂ['l‘l'!d --—I:_. _Ei‘-"‘l"lli:.!.iL_lrl:".
700 - 660
505
’a B —y
g
% 500 | 486
409 4116
g f— -
B i 348
E‘ I -.o—
N el 270 .
3 ]
=
i 2
e o
1990 1991 1092 1993
Year ——»=

What was average eaming from gold jewellery over 1990 to 1994 7
1990 ¥ 1994 TF #U ATGUY H AT O P 47 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

503.4 Million
| 503.4 Tofer=



501.6 Million
, 5016 EIEPE

500 Million
3 500 foferr=

510 Million
n 510 Tofer==
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Question Label : Multiple Choice Question

The following multiple bar chart shows the export earnings from polished diamonds and gold
jewellery. Study the chart and answer the question :

Frfafias 95 91T =1 Ofess S ) 99 & e § e STE Fr oS =
=TE H ATHT FE AT GO M0 U W oI9S

Export Earnings
Polished Diamond vs Gold Jewellery

] polished s wold
! didt]ﬂpd PR _EE‘I"JILIHL_'T:'.'
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ﬁ 500 | 486
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In which vear the difference of export earning of two types of jewellery is maximum ?
TFe =9 O o AT9Uel o MFE O @ JeT SAfgEay 97 v

Options :



| o 1994

1993
1991

1992
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Question Label : Multiple Choice Question

Directions ; Study the tollowing table and answer the question given :

Production of different types of scooters in a company

@Sy : Frafaiad Ao & ST9EE HY AT e M UsT @ oFeT &

UF FOA1 O &9 96T & Fped B 3R

Figures in '000

Year Type of scooters
A B c D E
1992 | 180 | 60 84 | 100 | 76
1993 | 210 | 90 32 80 48
1994 | 135 | 30 44 935 83
1995 | 190 | 85 69 | 125 | 115
1996 | 260 | 95 120 | 80 | 120
1997 | 240 | 140 | 161 90 | 185

What was the approximate percentage of production of A-type scooters in 1995 to its
total production over the vears ?

1995 T A-TET & FHAl & IARA H FJONAd 099 29F o 3cd1eA
I R A v

Options :

20
1. %



40

Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

509398155
2

Online
Mandatory
60

60

180

Yes

0

1
509398182
Yes
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Question Label : Multiple Choice Question

Under Ashtanga Ayurveda, Panchakarma has been described as :

Options :

L% A separate specialty

5 % A subspecialty

Under KavaChikitsa

3. =

4w Alype of therapy that can be used under all specialty
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Question Label : Multiple Choice Question



Which of the 'Spneha’ of the following drug is not preferred in a child suffering from
Ashmari (Urinary tract stone) ?

Options :

_ Kapotvanka (Brahmi)

5 % Avalguja ( Bakuchi)

3 % Hariraki

4 Karanja
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not the 'SnehaVyapada' ?
Options :
| % Ajirna

5 % Jwara

3 % Aruchi

4 Sandhi-Pida
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Question Label : Multiple Choice Question

Which of the following drug should be preferred for VamanKarma in a lactating mother
who has Kushtha raga (skin disorders) with vitiation of milk ?

Options :



L% Madanphala

) Kutaja

3 % Vacha

4 % Kritavedhan
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Question Label : Multiple Choice Question

Which of the following drug is not included in VirechanDravya ?
Options :

L Karanja

) % Tilvaka

3 % Shankhnini

4% Saptala
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Question Label : Multiple Choice Question

Internal burning, thirst, retention of stool and flatus, and dyspnea (Shwasa) with cough
(Kasa) are the features suggestive of which of the following diagnosis ?

Options :

L ® Tritivaka Jwara

5 % Vishama jwara



3 Gambhir Jwara

4 % Pratamaka Jwara
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Question Label : Multiple Choice Question

What will happened if a baby has been compatible with i.e. taking only Madhura (Rasa) ?
Options :

|« Resultin increased Kapha and Meda

, w Resultinaggravation of Kapha and Pirraja disorders
5 % Resultin Timira (cataract) and graying of hairs

4 % Result in aggravation of Pirra and Vara
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is not included in the AshravidhaPariksha ?
Options :
L% Mutra (urine)

) % Jihva (tongue)

3 Satmya (compatibility)

4 % Sparsha (touch)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is not correct, as per Ayurveda ?
Options :
| % [ntake of Milk of pregnant women by the baby may cause disease
Milk of a mother who is hungry, grief stricken, angry or indulging in
»  ViruddhaAhara is not responsible to causes disease in infant

‘Aparisruta’ milk should not be given to the newborn baby due to risk of Kasa,

3 % Shwasa, and Vamana

4 % Intake of many kinds of milk may cause Asarmya-vvadhi
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Question Label : Multiple Choice Question

Which of the following statement is most correct in respect to 'Prashan’ 7
Options :
First day, give Madhu, Sarpi and Ananta

1. ®

5 % First day, give Madhu, Sarpi and Ananta by chanting hymn only one time
First day, give three times Madhu, Sarpi and Ananra by chanting hymn

4 % First day give two times Madhu, Sarpi and Ananta by chanting hymn
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ulvaka is a:
Options :

| = Disease of newborn child developed after one day of life

) % Disease of the infant developed after injury to lungs

3 Disease of the newborn, when baby is not able to vomit Garbha-ambhasa at birth

4 % Infectious disease developed at birth
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

According to Charaka Samhita, which of the following statement is correct in respect to
Kumarapariksha :
Options :
Passage of flatus, urine, and stool; sleep, awakening, smile, cry, and catch of breast
|+ should be Prakriti-yukta in a normal baby

Passage of flatus, urine, and stool; sleep, awakening, smile, cry, and catch of breast
5 ® should be Prakriti-yukta in a diseased baby

Passage of flatus, urine, and stool as well as sleep should be Prakriti-yukta while the
5 w awakening, smile, cry, and catch of breast must be abnormal in a normal baby

Passage of flatus, urine, and stool as well as sleep are not Prakriri-yukra in a normal
4 % Daby
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Question Label : Multiple Choice Question

As per Ayurveda, the aim of the examination is :
Options :

Pratipattigyanam

1.v
5 % Kushalartha
3 % Bhavavishesho-agyanam

4 % Aoushdhagyanam
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Question Label : Multiple Choice Question

Under Dasha-VidhaPariksha, aim of Vyayama-shakti assessment is to know the :
Options :

L Karma-shaktaya

) % Jaranashaktaya

3 % Kala pramana vishesha

4 % Bala mana vishesha
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Question Label : Multiple Choice Question

As per Ayurveda, which of the following disease can be treated with Ashwagandha,
Anjana, Ajavishtha and Yashrimadhu mixed with Sneha :

Options :

L% Unnata Nabhi



) Anunnat Nabhi

3 % NabhiKundala

4 % Nabhitundi
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following sign/symptom is not found in Alasakaroga ?
Options :

| % Vata-varchonirodhah

5 % Pratamyeta Parikujari

Trishna

Hridaverujashca
4. e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Raktaja Murccha may be defined as :
Options :

L ® When a child get Murccha by observing Rakra only

) When a child get Murccha by observing Rakra and smelling it

3 % When a child get Murccha by smelling Rakra only



When a child get Murccha by observing facial expression and body language of the

4% patient
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Question Label : Multiple Choice Question

Which of the following condition cannot be cured without medicine ?

Options :

% Mada

) % Murccha

Sanvasa
3.¢

4 % Mada and Murccha
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Question Label : Multiple Choice Question

A patient came to your OPD with a complaint of generalized and tense abdominal

distension except the Parshwa and Hrida region and also were having features of Aropa

(bowel sound), and acute pain. Which of the following diagnosis can be expected ?
Options :

Aadhmana
Praryadhmana

Fi iy
3 % Visuchika



7 i,
4% Vilambiroga
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In regard to Parinama Shula, which of the following condition is associated ?
Options :

Onset of the pain is occurred just after taking the food

5 % Onset of the pain is occurred before taking the food

Onset of the pain is occurred during the digestion of food

L% Onset of the pain does not have any relationship
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

A child was suffering from :

(a) Memory loss

(b) Eye deformity

(c) Involuntary movements of hand, legs efc.

In this baby, which of the following is the most accurate diagnosis :
Options :

| % Unmada

Apasmara
2.¥



Buddhi vibhransha

Aratvabhinivesha
4. %
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Question Label : Multiple Choice Question

A child developed the following features :

(a) Increases Ushma (temperature) in internal and external organs
(b) Drying of throat, palate and lips

(c) Protrusion of tongue

(d) Tremors/convulsion

(e) Altered sensorium (Manda chetasah)

In this baby, which of the following is the most accurate diagnosis ?
Options :
| ® Raktapurna Koshthaja Daha

) % Dhatu kshavaja Daha

3 Trishnanirodhaja Daha

4 % Pittaja Daha
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Question Label : Multiple Choice Question

According to Acharrya Shusrutra, which of the following Dosha are responsible for
Vrishanakachchhu ?

Options :



| % Vata-Kapha

5 % Pitta-Rakta

3 Kapha-Rakta

4 % Vata-Rakta
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Acharrya Shusrutra, which of the following Dosha are responsible for
Ajagallika ?

Options :

1 % Vata-Pitta

, » Kaph-Rakta

3« Kaph-Vata

4 » Pitta-Rakta
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not considered a cause for the Stanyanasha ?
Options :
| = Overexertion

> % Anger

; % Retention of natural urges for longer period



4 + Use of drugs mentioned in Kakoliyadigana

Question Number : 66 Question Id : 50939813088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following disease is notf caused by vitiated breast milk ?
Options :

| = Karshya

, % Mutra-varchabandhata
; % VYatagada

4 Karkatarbuda

Question Number : 67 Question Id : 50939813089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following requirement is nof mentioned for the construction of Kuamragara
in Charaka Sambhita ?

Options :

L% Prashastam
. Atamaskam

2. %

5 % Pravataika-desham

4 Prakritbhutam

Question Number : 68 Question Id : 50939813090 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
As per VriddhaVagbhat, which of the following procedure should be done in a newborn
baby who had been obstructed and sick by Yoni-Putava in vaginal canal ?

Options :
|« Balataila Pichu should not put over the Talu Pradesh

, » Balataila Pichu should put over the genitals

3 Bala taila Parisheka

4% Bala taila Abhyanga (massage)

Question Number : 69 Question Id : 50939813091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Madhaw Nidan, which of the following is related to
"Shalmlikantakprakhya Kaph marutraktja” ?

Options :

| % Vrishankachchhu

5 % Neelika

3 % Apachi

. Mukhdushika

Question Number : 70 Question Id : 50939813092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

According to Vagbhat in which month "Bhumi upbisthan" is indicated :
Options :

L ® 6th month

10th month

2. %
3 5th month
4 % Sth month

Question Number : 71 Question Id : 50939813093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
According to Acharya Kashyap, which of the following Dosha is found dominant in
Charmadal ?

Options :

| Vata

, % Pila

5 % Kapha

4 % Vata-Pitta

Question Number : 72 Question Id : 50939813094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to Madhav Nidan, which of the following Visharpa are '"Prananashano’ in
children ?

Options :



| ® Vasti pradeshaj

Shirsha pradeshayj
v Both Vasti pradeshaj & Shirsha pradeshayj

Nabhi pradeshayj

Question Number : 73 Question Id : 50939813095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
According to Acharya Kashyap, which of the following is related with
"Karkandhugoastana Prakhya" ?

Options :

L Arikeelaka

) % Mahapadama

3 % Charmadala

4 % Vyanga

Question Number : 74 Question Id : 50939813096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Acharya Shusruta, which of the following Dosha are dominant in Vyanga ?
Options :
| % Vata-Kapha

) Vata-Pitta



3 % Pitta

4 % Kapha

Question Number : 75 Question Id : 50939813097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Gag reflex is appeared at :
Options :
| % 36 weeks of gestational age and disappear at one year of age

, w 36 weeks of gestational age and disappear at two year of age

3@ 36 weeks of gestational age and does not disappear

25 weeks of gestational age and does not disappear

Question Number : 76 Question Id : 50939813098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Hasta Sweda treatment of a child is indicated at upto which age ?
Options :
L ® 2nd month

) 4th month

3 % 8th month

4 % 10th month



Question Number : 77 Question Id : 50939813099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tocopherol is the biochemical name of vitamin :

Options :

Question Number : 78 Question Id : 50939813100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Shavagandha is found in which of the following ?

Options :
Shwagraha

Pitrugraha
s Shakunigraha

4 % Revati graham

Question Number : 79 Question Id : 50939813101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



After cutting the cord, it should be treated with Kushtha taila. This has been told by :

Options :

| % Charaka

) % Sushruta

3 o Vag bhata

4% Kashyapa

Question Number : 80 Question Id : 50939813102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Number of Rajadanta is :

Options :

Question Number : 81 Question Id : 50939813103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Dushtastanyapana is a cause of Ahiputanvyadhi. This has been said by :
Options :
| Yogratnakara

5 ® Madhavnidana



3.« Bhoj

4 w Charaka

Question Number : 82 Question Id : 50939813104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Harita, the total number of Krimi is :
Options :
L & 07

Question Number : 83 Question Id : 50939813105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Birth weight of a child doubles at 5 months, while birth length doubles at the age of :
Options :

L ® 1 yr

40 YT



Question Number : 84 Question Id : 50939813106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Schizont stage of the organism is seen in which of the following diseases ?
Options :
Typhoid

1. =

5 % Dengue

3 Malaria

4 % Rheumatic fever

Question Number : 85 Question Id : 50939813107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Sushruta, number of Graharogas are :

Options :

1.\'/9

4 » Innumerable

Question Number : 86 Question Id : 50939813108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Hridroga in infant is caused due to which stanyadushti ?
Options :

| % Vataja

) % Pittaja

3 Kaphaja

Sannipataja

Question Number : 87 Question Id : 50939813109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The head circumference of a new born baby is approximately :
Options :

| % 25-30 cm

) 34-35 cm
3 % 31-32 cm

4 % 44-45 cm

Question Number : 88 Question Id : 50939813110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mission Indradhanusha includes all the vaccines except :

Options :

| % BCG

) Japanes Encephalitis



3 % Diphtheria

4% Measles

Question Number : 89 Question Id : 50939813111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Itchy eruptions appearing around anus of the child in :
Options :
- Phakkaroga

5 % Visarpa

3 Ahiputna

4 % Padmarunsha

Question Number : 90 Question Id : 50939813112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Live Vaccine is not advised in ........... .

Options :

. ITUGR babies
1. ®

) % Overweight children

3 Immuno compromised children

, # CHD



Question Number : 91 Question Id : 50939813113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The usual normal posture of a full term healthy infant is :
Options :

L% fencing posture assumption

» « flexion of lower and upper extremities
5 % lowerextremities flexion with extension of upper extremities

4 % lowerextremities extension with flexion upper extremities

Question Number : 92 Question Id : 50939813114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The organism which causes diphtheria is :
Options :

L% Bordetella pertusis

) Cornebacterium diphtheria

3 % Mycoplama

4 % Salmonella

Question Number : 93 Question Id : 50939813115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



In full term normal baby, the umbilical cord contains :
Options :
| % 1Vein, 1 artery

5 % 2 Vein, 1 artery

3 w 2Vein, 2 artery

4 1 Vein, 2 artery

Question Number : 94 Question Id : 50939813116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Kwashiorkor in 'Ghanaian language' means :
Options :

| % "The red boy"” seen in diseased child

) "The red boy" seen in deposed child

3 % "The red boy" seen in every 3rd child

4% Condition seen in recovered child

Question Number : 95 Question Id : 50939813117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Dose of Zinc in a 12 months old child, suffering with diarrhea, is
Options :

L ® 1 mg/day for 14 days

, % 10 mg/day for 10-14 days



3 % 15 mg/day for 10-14 days

4 v 20 mg/day for 10-14 days

Question Number : 96 Question Id : 50939813118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bronze Baby Syndrome is caused by :
Options :
| Phototherapy

. Phenobarbitone
2. %

3 % Hemosiderosis

4 % Chloramphenicol

Question Number : 97 Question Id : 50939813119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Koplik spots are pathogonomic of :
Options :

L% German measles

) Measels

3 % Syphilis

4% Chicken pox



Question Number : 98 Question Id : 50939813120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sharangadharasamhita explained how many number of Balaroga ?
Options :

1'\_/22

I~
LN

Question Number : 99 Question Id : 50939813121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sravayuktavrana (ulcers with secretion) all over the body is seen in the affliction of
which graham ?
Options :

| Shakunigraha

5 % Skanda graha

3 % Andhaputanagraha

4 % Putanagraha

Question Number : 100 Question Id : 50939813122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Trichakra Ratha is employed in :
Options :
| Phakkaroga

) % Shosha

5 % Parigarbhika

4% Putnagraharoga



